. VCE & PDF https://www.pass4itsure.com/1z0-100.html
g 2024 Latest passditsure 1Z0-100 PDF and VCE dumps Download

PassditSure.com

170-1009%As

Oracle Linux 5 and 6 System Administration

Pass Oracle 1Z0-100 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-100.html|

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-100 Practice Test | 1Z0-100 Study Guide | 1Z0-100 Exam Questions 1/4


https://www.pass4itsure.com/1z0-100.html
https://www.pass4itsure.com/1z0-100.html
https://www.pass4itsure.com/1z0-100.html

VCE & PDF https://www.pass4itsure.com/1z0-100.html
a 2024 Latest passditsure 1Z0-100 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

The default locations and paths used by logwatch are:

letc/logwatch/conf /user/share/logwatch/default.conf /user/share/logwatch/dist.conf

Which three statements are true logwatch installation and configuration?

A. After installing logwatch, no configuration is required to produce reports from system logs.

B. After installing logwatch, the /usr/share/logwatch/dist.conf directory will not exist because it is optional.
C. After installing logwatch, you must create /etc/logwatch/conf to produce reports from system logs.

D. After installing logwatch, all the default directories continue to exist.

E. To produce a report from the previous day\\'s logs, the - - range yesterday parameter must be specified.
F. Running /usr/shin/logwatch produces a report of the previous day\\'s log files.

Correct Answer: ABC

QUESTION 2

Which statement is FALSE concerning the use of OpenSSH utilities? (Choose the best answer.)
A. scp always requires a passphrase to be used

B. scp permits copies between two remote hosts

C. ssh may be used to execute a single command on a remote host instead of executing the login shell on the remote
host

D. sftp may be used to execute a command on the remote server

Correct Answer: A

QUESTION 3

Examine the contents of /etc/rc.d
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Total 76

4 drwxr-xr-x. 10 root root  4p9g Dec 6 00:28.

12 drwxr-xr-x. 119  root root 122288 May 24 03:40.

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:07  init.d

4 -drwxr-xr-x. 1 root root 247 May 21 05:08  rc0.d

4 drwxr-xr-x. 2 root root 4096 Apr 5 0528  rel.d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 0528  re2.d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:28  re3d

4 drwxr-xr-x. 2 root reot 4096 Apr 5 05:28  red.d

4 drwxr-xr-x. 2 root root 4006 Apr 5 05:28 el d

4 drwxr-xr-x. 2 root root 4096 Apr 5 0528  rc5.d

4 -drwxr-xr-x. 1 root reoot 929 May 21 2011 relocal
20 -drwxr-xr-x. 1 root root 49546 May 21 2011 re.sysint

Which two statements are true concerning the files contained in the run level-specific directories rc0.d through rc6.d?
A. The files starting with S or K are links to scripts in the /ete/init.d directory.

B. The files starting with S are always invoked by the /etc/rc.d/rc script even if the service managed by that script is
already down.

C. The files starting with S or K are added by using the chkcor.fig command.

D. The files starting with K are always invoked by the /rc/rc,d/re script even if the service managed by that script is
already up.

E. The files starting with S are invoked before those starting with K.

Correct Answer: DE

QUESTION 4

Which three statements describe the OSWatcher Black Box (OSWhbb) system monitoring and troubleshooting tool?
(Choose three.)

A. OSWhbb is a part of the standard Oracle Linux distribution

B. OSWhbb is an Oracle product and must be installed after system installation using yum or rpm

C. OSWhbb is an Oracle product and is installed by downloading is from MOS and unpacking a tar file

D. OSWhbb is a set of scripts using traditional UNIX monitoring tools to gather system activity and performance data
E. OSWbb maintains an archive of text files containing gathered statistics

F. OSWhbb is designed to work with any POSIX-compliant shell

Correct Answer: CDE
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QUESTION 5
Examine some of the contents of the /boot/grub/grub.com file from an Oracle Linux system:

Default=0 Timeout=5 Splashimage=(hd0, 0)/grub/splash.xpm.gz Hiddenmenu Title Oracle Linux Server
(2.6.39-100.0.12.16uek.x86_64)

Root (hdO, 0)

Kernet /vmlinuz-2.6.39-100.0.12.e16uek.x86_64 ro root=UUIP=a4b6049b-9aal-44b4-87cfaebbl7alcdf9 rd_NO_LUKS
re_NO_LVM rd_NO_DM LANG=en_US.UTF-8 SYSFONT=1atarcycreheb-sun16 KEYBOARDTYPE=PC KEYTABLE=us
rhgb quiet numa=off Initrd /initramfs-2.6.39-100.0.12.e16uek.x86_64.img Title Oracle Linux Server
(2.6.32-131.0.15.e16.x86_64)

Root (hdO, 0)

Kernel /vmlinuz-2.6.32-131.0.15.e16.x86_64 ro root=UUIS=a4b6049b-9aal-44b4-87cf-aebbl7alcdf9 rd_NO_LUKS
rd_NO_LVM rd_NO_LVM re_NO_MD rd_NO_DM LANG=en_UD.UTF-8 SYSFONT=latarcyheb-sun16
KEYBOARDTYPE=PC KEYTABLE=us Crashkernel=auto rhgp quiet numa = off

Initrd /initramfs-2.6.32-131.0.15.e16.x86_64.img

Which three statements are true about the behavior and configuration of GRUB on this system?

A. (hdO, 0) represents the first partition on device /dev/hdO.

B. The hiddenmenu directive hides the GRUB menu only for 5 seconds after which it becomes visible again.

C. The root directive specifies an initial root filesystem, allowing access to block device modules to mount the real root
filesystem on disk.

D. (hdO, 0) represents the first partition on the first drive detected by the BIOS.

E. The initrd directive specifies the initamfs, an initial root filesystem in RAM, allowing access to block device modules to
mount the real root filesystem.

F. Each kernel must have an initramfs that matches the version of the kernel.

G. Because there is an Unbreakable Enterprise Kernel installed, it must be the default kernel listed as shown by the
default=0 directive.

Correct Answer: ACE
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